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HE03| A I AR UL DAY me/L. €0.0003] €0.0003]
HE04 [REE TEDILEH mg/L <€0.00005 <0.00005
05| L RO DAY me/L. €0.001 <€0.001
R OEDLEY mg/L <0.001 €0.001
HEOT[ERR VLAY me/L. 0.002 €0.001
HE08 | A filiz A &4 mg/L <€0.002 €0.002
09 | I A 2 mg/L 0.008 €0.004
Hi10[s 7 AL A4 KOs T |me/L <€0.001 <€0.001
HELL | AR A R R OV AR IR R |me/L 0.30 0.38
127y RROEDLEY mg/L 0.12 0.09
HE13| R R R UL DAY me/L. 0.11 €0.02
S| [CERPES mg/L <€0.0002 €0.0002
Hi15[1,4-UAF me/L. €0.005 €0.005
HE16 |- 12-wmo= s mU T A1 2T mg/L <0.004 <0.004
W17 |y mg/L €0.002 €0.002
HE18|F R mnF L mg/L <€0.001 <€0.001
A9 R ymaEF L mg/L €0.001 €0.001
Hip0| v mg/L <€0.001 <€0.001
32| Hifh o O F DAL me/L. €0.01 €0.01
W33 [T A= AR O EDLAY mg/L 0.05 0.10
4[#R R U DAY mg/L. 0.10 0.10)
35| H K O Z DAL A mg/L <€0.01 €0.01
36| TN AR UZEOLEY) mg/L 19) 5.1
HE3T [~ W R UZ DAY mg/L 0.030 0.006
LA mg/L 15] 2.1
HEBY[ L2 I, ~ 7 R L) |me/L 68 21
f IR mg/L 170) 73
A A ST ] mg/L €0.02 €0.02
A A e/l 0.002 €0.001
HE43 |2 AFNA VRN A — L /L 0.005) <€0.001
44| A A I me/L. €0.005 €0.005
5|7 = ) — LB mg/L <€0.0005] <0.0005]
46 [ B2 A A FE(TOC)DHE)  |me/L 1.1 0.6
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Aol[7> FE RUZOREY mg/L €0.002 €0.002
AER02[V 7Y BRUEDLEY mg/L <€0.0002 €0.0002
AER03| =y VR UZ DL A mg/L <0.002 €0.002
A {705|1,2-Y7ma=s mg/L €0.0004] €0.0004]
A o8|y mg/L €0.04 <0.04)
FLER 15| B0 <0.1 <0.1
FERLT| NSO b <7 32y D) |mg/L 68 21
FERI8| v e RUZEDLEH mg/L 0.030 0.006
19 | e e me/L. 3.8 2.6)
Af201,1,1-F)7maxs mg/L €0.03 <0.03
A2 | AF =T FLz—F L mg/L €0.002 €0.002
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AR R me/L. 170| 73
FEE25 | L3 2.2 3.4
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mg/L €0.01 €0.01
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EH08| T T =T R mg/L €0.05 €0.05 €0.05 €0.05 €0.05 <€0.05 <0.05 <€0.05 <0.05
EER09 | BAL#A A mg/L 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1 0.1
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it R mg/L €0.04 <0.04
FELLY[p-v R~ P mg/L €0.03 <0.03
EE20(1,2-Y R T mg/L <0.006 <0.006
|‘EF 26 | SRR HEE250 ABS/50mm 0.186) 0.083)
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PITM|CTADT {8/ 101 0 0




S [y EXXS Y Ea P E mgawax!ﬁﬁﬁmiﬁ;ﬁl Ca/ PSR st acnn | s ks ok |
ZOLERKD 7| 4/ FIUKH: | FERIBUK H: | S dike 7 3¢ [ SRR UK 0 | sk nor

3001 [1,3-0 7 1um7 H~ (D-D) /L. <0.0005, <0.0005,
3006|725 4 mg/L <0.009 <0.009

007 |77 = —h mg/L. <€0.00006]  <0.00006]  <0.00006|
3010 [7 5 X mg/L <€0.00006]  <0.00006]  <0.00008]
oL |75 7m—n mg/L. <0.0003 <0.0003

02|V FA mg/L <€0.00005|  <0.00005]  <0.00005|
3015 [ -1V 7 0547 IPT) mg/L <€0.003 <€0.003

3017 [ 70~ R ABP) mg/L <0.0009 <0.0009

pskors [ 1> )77 mg/L. <€0.00009]  <€0.00009]  <0.00009)
020 |z 27T mg/L <0.0003 <0.0003

ozl | =T =T ay s mg/L. <0.0008 <0.0008

023 |34 ATk mg/L <0.0002, <0.0002,

38024 |3 o i (4 i) mg/L <0.0003 <0.0003

3025 | A U AR e mg/L <€0.001 <€0.001

026 | 1 KR mg/L. <€0.00001 <€0.00001 <€0.00001
3027 |97 x> AR —L mg/L <€0.00008]  <0.00008]  <0.00008|
0| m sy mg/L <0.0008 <0.0008

35029 | /173U LNAC) mg/L <0.0002, <0.0002,

032 |7 5 mg/L. <€0.003 <€0.003

k033 |y L mg/L <0.0003 <0.0003

3034 | 7 VR — mg/L <0.02 <0.02

3036 |7 AT 11y T mg/L <0.0002, <0.0002,

038 | /R E VR A mg/L. <€0.00003]  <€0.00003]  <0.00003]
23039 | ym # = L(TPN) mg/L <0.0005 <0.0005

3011 |27 /7R ACYAP) mg/L <€0.00003]  <€0.00003]  <0.00003]
3012 | 2 ADCMU) mg/L <0.0002, <0.0002,

013|270 =L(DBN) mg/L <0.0003 <0.0003

3019 [o ik 7T F v mg/L <€0.00006]  <0.00006]  <0.00008]
050 |-~ T (CAT) mg/L <€0.00003]  <€0.00003]  <0.00003]
32051 |2 25 AR mg/L <0.0002, <0.0002,

053 |5 AR mg/L. <0.0003 <0.0003

05 | (70 mg/L <€0.00003|  <0.00003]  <0.00003]
055 mg/L. <€0.008 <€0.008

k057 mg/L <€0.001 <€0.001

058 mg/L. <0.0002, <0.0002,

3059 mg/L <0.0008 <0.0008

38060 mg/L. <€0.003 <€0.003

062 |77 VLR A mg/L €0.00002|  <0.00002]  <0.00002]
5066 | 2 25— mg/L. <€0.001 <€0.001

067 | R 7 LT mg/L <0.0006 <0.0006

0T [E5/n= mg/L. <0.0001 <0.0001

02 |E5 /% 7= mg/L €0.00004]  <0.00004]  <0.00004]
235073 | €7/ ) R —NETY L—h) mg/L <0.0002, <0.0002,

075 |V T F LT mg/L <0.0002, <0.0002,

o7s |[Er mg/L. <0.0005 <0.0005
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235078 | 7 == e F A (MEP) mg/L <0.0001 <0.0001

3079 |7 = )7 91 L 7 (BPMC) mg/L <0.0003 <0.0003

080 | 7=y 8/ mg/L. <0.0005 <0.0005

3081 |7 =2 F A2 (MPP) mg/L <€0.00006]  <0.00006]  <0.00008]
5082 | 7 = b= —R(PAP) mg/L €0.00007]  <€0.00007|  <0.00007
k083 mg/L <0.0001 <0.0001

081 mg/L. <€0.001 <€0.001

k085 mg/L <0.0003 <0.0003

086 mg/L. <0.0002, <0.0002,

k087 mg/L <0.0002, <0.0002,

k088 mg/L. <0.0003 <0.0003

089 | 7L F 5 70— mg/L <0.0005 <0.0005

090 | 7S 3k mg/L <0.0009 <0.0009

091 |7 BT A kA mg/L €0.00007]  <0.00007]  <0.00007|
k02| 7 ars— L mg/L <0.0005 <0.0005

093 | 7 e IR mg/L <0.0005 <0.0005

k091 | T ~F— mg/L <0.0003 <0.0003

095 | 7 mE T F R mg/L <€0.001 <€0.001

32096 mg/L <0.0002, <0.0002,

k007 mg/L <€0.001 <€0.001

k008 mg/L <0.0009 <0.0009 X
k099 mg/L €0.00005|  <0.00005]  <0.00005]
3100 mg/L <0.002, <0.002,

101 |~ A2 mg/L <0.003 <0.003

esi02 [~ 7T T mg/L <0.0002, <0.0002,

g0t [~ 7L —h mg/L <0.0007 <0.0007 X
35105 | A2 F 7B — mg/L €0.00003]  <0.00003]  <0.00003]
13106 |~ 5 F A (5 F>) mg/L <0.007 <0.007

108 | 231 mg/L <0.0003 <0.0003

109 | 25 5% 1 mg/L <0.002, <0.002, .
35110 | 254 74 (DMTP) mg/L €0.00004]  <0.00004]  <0.00004]
a1 | AR/ ARaE mg/L <0.0004 <0.0004

113 A7 = F e b mg/L <0.0002, <0.0002,

114 | A7 p= L mg/L <€0.001 <€0.001

5| £ ) 3 —1 mg/L <€0.00005]  <0.00005]  <0.00005]
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